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1 A sy oflon otdl w18 sigoing A2l ?
A dly
B) [gioll
Q) Biwioll
(D)  >i-lg oflaaidl aqfd
Which is odd one from following ?
(A) Algae
(B) Bryophyte
(C) Pteridophyte
(D) Gymnosperms

2 dlal sinzale Al oiAd] Sy B,
A 85l
B) ddl
(C) @&
(D) selM5%
The cell wall in algae is made up of
(A) Chitin
(B) Cellulose
(C)  Gelatin
(D) Glycogen

3 A U4 55 aqulil wadusml sARd @-ysin-l siedl Fldl
Wi 8 7
Q) Ay
B) llazilul
(C) G254y
D) ldlalusy
From which of following life cycle the motile reproductive cells
are absent ?
(A) Anthoceros
(B) Oscillatoria

(C) Batrachospermum
(D) Polytrichum

4 Al U4 59 adufd WE0Es SN Y 8 7
A -2l
B) ydsllsy
(@  Allosl
D) a3
Which of the following has prokaryotic cells ?
(A) Nostoc
(B) Ulothrix
(C) Peziza
(D) Lichen
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A dldl - odl dle
B) el dla
© dd da
D) g dd
Members of class chlorophyceae are commonly known as which
following name ?
(A) Blue-green algae
(B) Brown algae

(C) Green algae
(D) Red algae

6 «Relsl dee{ui (Al 44 s e 9 8 7
(A A A dg yYlaw 21198 43 2laRd €l 8,
(B) 3% dgd-ll srd @dx yAlaw-l viael-ll siwdd Fldl wo 8.
(©) o [QHIn
D) s gl ¢l

With reference to Nostoc which one of the following statements is
correct ?

(A) The trichomes are generally not surrounded by mucilaginous
sheath.

(B) An individual mucilaginous sheath is present around each
trichome.

(C)y Both of these
(D) None of these

7 Nl wifEo(l Ut wayy dd¥ ad & 7
A s-lful
(B) oflagai-l
(©)  s-llfylellangal-l
D) S-ldul 2 sl duiellmgsidl of

In Peziza the asexual reproductive organ behave as
(A) Conidia

(B) Sporangium

(C) Conidiosporangium

(D) Both Conidia and Conidiosporangium
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(A ydisdlsy
(B) iselsiiy
(C) G254y
(D) &1 48l -]

In which of following types the structure of cystocarp developed
after fertilization ?

(A) Ulothrix

(B) Ectocarpus

(C) Batrachospermum
(D) None of these

9 w{AHl AL U4 2ATayui-dl-l sul SN saq ulal [Hufed iy 8 7
(A)  ldilgisy
B) dldigaisiy
(O iai-lsisiy v dldiseisy
(D) &1 48l -]

Which cells of archegonia disintegrating before fertilization in
Anthoceros ?

(A) Ventral canal cells
(B) Neck canal cells

(Cy Neck canal cells and ventral canal cells

(D) None of these

10 leflunHl A1 4L 51 wsie] ONeL Flal 1o & 7
(A)  =dladsf]l
(B) uAMwdl
(C) 8o~

(D) Hdiusdl

Which following type of mode of nutrition shown in Pythium ?
(A) Autotrophic

(B) Parasitic

(C)  Symbiotic

(D) Saprophytic
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(A)  FYA~ls v
(B)  oflaa-s vl
() [8o(l wiary)
(D) &1 48l -]

In which generation in bryophytic plant the spores represent the
first cell ?

(A) Gametophytic generation
(B) Sporophytic generation
(C) Sexual generation

(D) None of these

12 dlsayledui oflong, Godles viol Ul A9 oy § 7
A oflogslus
B) s
(ORCTERIE
(D) o4l %
What is the name of spore producing organ in Equisetum ?
(A) Sporocarp
(B) Cone
(C) Sori
(D) All of these

13 59 anayan] oflongs viaen) 28l st YYgusl Fyu-s vyl GU »gds
87
(A) UL
(B) &A%
Q) -l
D) 56 4o Al
In which plant sporophytic phase short and completely depended
on gametophyte ?
(A) Marsilea
(B) Nephrolepis
(C)  Anthoceros
(D) None of these
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(A)  dlfds sasmo-l Wil
(B) t[&Eo(l U gyl
() [0l Yt 2idyl

D) [aseq didaufis sasyonrl -l »ia [l wysid 22

Which character is used as main character for the classification of
the fungi ?

(A) Structure of vegetative mycelium

(B) Asexual reproductive stage

(C)  Sexual reproductive stage

(D) Option Structure of vegetative mycelium and Sexual
reproductive stage

15 a3l 3018 seq g s3q1y 7
VIR EIDEITK]
(B) $A2191yy
(©) 21 aflun
D) [asey AAfuH 214 2iA(YH
What is called the fruiting body of Lichen ?
(A) Perithecium
(B) Cleistothecium
(C)  Apothecium
(D) Option Perithecium and Apothecium

16 A U4 cwsd-ll 6 miniel 20300 UH 4 & 7
A R
(B) el
©)  sadlul
(D) [Heulzl
From which of following species the Orsin is obtained ?
(A) Archilino
(B) Rosela

(C) Caladonia
(D) Cetraria
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(A)  agolonguel
(B) dysduel
Q) usloflagul
D) dHIH WslReL
Following what kind of leaf is found in Marsellia ?
(A) Microphyllous
(B) Compound leaf
(C) Megaphyllus
(D) All types

18 wiiflacldluldl 56 anlaul 21204190 Sellraiell L Flal 1A & 7
(A) O. angusta
(B) O. Formosa
(C) O. tenuis
D) 2134 «d]
In which species of Oscillatoria we can see the structure of calyptra
on apical side ?
(A) O. angusta
(B) O. formosa
(C) O. tenuis
(D) None of these

19 28l syl usll eld3ul qoflsd uly & 7
A& wdais
(B) sel™
©) glua
D) yell™
Graphis is classify in which type of lichen ?
(A) Crustose
(B) Petaloid
(C) Fruticose
(D) Foliose

20 oryHiel 2 2i3nl] vl vl vl GUI By wid AR sdqiy.
(A)  yusiellmgs
B) wllyslloes
(©) [asey yusuolongls viq w{yoflags
D) 2134 «d]
Antheridia and archegonia grown on different branches which is
known as )
(A) Idioandrosporous
(B) Gynoandrosporous
(C)  Option Idicandrosporous and Gynoandrosporous

(D) None of these
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(A)  Uein
(B) SN[
(C)  uRes ei-llddly
(D) 2&™ oi-|ddly]

Which is following function of Separation disc ?
(A) Reproduction

(B) Cell division

(C) To make transparent

(D) To make Mucilaginous

22 go1q wiveelln (A1 U4l 5 (Au W =l ?
A) g0l lesaadlq iy 8,
(B) &% £ Ydluodl €1y 8.
(©) gl ydaql 8,
D) 213 -l
Which sentence is wrong in respect of Fungi ?
(A) Fungi are achlorophyllou
(B) All fungi are parasitic
(C) Fungi are of universal occurance
(D) None of these

23 A U4l 56 A dla 8 7
(A)  FEctocarpus conferus
(B) Ulothrix flacca
(C) Nostoc punctiforme
(D) Batrachospermum vagum
Which of the following Algae is epiphytic ?
(A) FEctocarpus conferus
(B) Ulothrix flacca
(C) Nostoc punctiforme

(D) Batrachospermum vagum
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(A)  SMEey(d
(B)  ddaUdl
(O [useq siNdayfd e do@=ydl
D) 213 -l

Both nucleus of ascus mother cell are attached with in
Peziza.

(A) EKaryogamy

(B) Somatogamy

(C) Option Karyogamy and Somatogamy
(D) None of these

25  wR{AAL Yol sy Bog A U4l 56 w1l GuR Flal wa & 7
(A) a8l sy
B w6 g
(©) Yy - del olly
D) A el
On which of following surface of Anthoceros, slime pore is located ?
(A) Ventral surface
(B) Dorsal surface

(C) Dorsal — Ventral surface
(D) Lateral surface

26 Slsaxlenul aeay 13- U4 3l -l YU & 7
(A) M, vl w7 sgueMe
(B)  iyHI-, -l e olgyede
(C)  HIA, el 2in [gusde

(D) Ui, ~ll-l 24 [gusHe

Which of following type of structure antherozoids of Equisetum
have ?

(A) Equal, small and multiflagellate
(B) Unequal, small and multiflagellate
(C) Equal, small and biflagellate

(D) Unequal, small and biflagellate
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(A olisiydl
By Ul
@ s
(D) oflongslus
Vegetative reproduction in Marsilea by means of which following
organ ?
(A) Rhizome
(B) Tuber
(C) Stolon
(D) Sporocarp

28 <A+l Ul 59 ellami aiifis, w0 v (ol wysid Flal wa 8 7
A {lagidlul
B) ~llels
() Gaellun
D) As2s4y
Which of the following algae shows vegetative, asexual and sexual
reproduction ?
(A)  Oscillatoria
(B) Nostoc
(C) Oedogonium
(D) Ectocarpus

29 aselsduHl »iEe0 uad w2 1AL U4l s oflongil wqieiglz 8 7
(A)  olguave ygoflany
B) [auene yeoflng,
Q) »yeHe Aeoflong
D) [usde iueslang
Which type of spores are responsible for asexual reproduction in
Ectocarpus ?
(A) Multiflagellate zoospore
(B) Biflagellate zoospore
(C) Aflagellate zoospore
(D) Biflagellate aplanospore

30 s-esey v ddresed Al U4 sul aolui Alal wA 8 7
(A)  Hludisudl
B) sl
(C)  Elilglual
D)  sdlRisul
In which of following class conceptacles and receptacles are found ?
(A) Cyanophyceae
(B) Rhodophyceae
(C) Pheophyceae
(D) Chlorophyceae
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(A)  [aulled wid ¢l »udlalo
B) [l v eldfl wuilalen
(@) [aulfe-d 21+ alislelr
D) [medly »i4 2lislelR
Which of following type of rhizoids arise in Anthoceros ?
(A) Aseptate and smooth walled
(B) Septate and smooth walled

(C) Aseptate and tuberculate
(D) Septate and tuberculate

32 {10 U4 & ol elrl 1Y elublug Al ?
(4 Aawy
(B) 384
©) ollong,
(D) oflongHigsin
Which of following is odd one ?
(A)  Antherozoid
(B) Egg cell
(C) Spore
(D) Spore mothercell

33 wieiflell oflongaisil Fldl Hodl sla Fdl @l g sdaly ?
A Mae
(B) [uyl-
(©) MU
D)  seylasl
What is called collar like structure in sporophyte of Anthoceros ?
(A) Involucre
(B) Operculum
(C)  Apophysis
(D) Pseudo elaters

34 dlH2ML sul usiHl @lddq 8 7
(A  4ell™
B uiaw
© aua
(D) edl®
Which kind of lichen is Hematoma ?
(A) Foliose
(B) Crustose

(C) Fruticose
(D) Petalloid
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(A)  O. aquaticum
(B) O. nodulosum
(C)  O. concatenatum
(D) O. fragile
Which of following the dioecious species of Oedogonium ?
(A)  O. aquaticum
(B) O. nodulosum

(C)y  O. concatlenatum

(D) O. fragile

36 (ool Al sl (A U4 56 ollel 2w 8 7
(A)  FYAS
B) sudl
(C)  oflngslas
(D) 3 «dl
Which of the following phage is subsidiary in the life cycle of
Bryvophyte ?
(A) Gametophyte
(B) Gemmae
(C) Sporocarp
(D) None of these

37 [l axufaiui widlsel sue w8 7
(A)  wyil-l Hulel 443
B) (&0l wevionl Mufel »yud
(O [aseq ayaii-l Mulel uuY v [Eoll ugrriol Mo ¥4
D) i3y ~dl
When we can see meiosis in Pterodophyte ?
(A) At the time of formation of gamets

(B) At the time of formation of sexual reproductive organ

(C) Option At the time of formation of gamets and At the time
of formation of sexual reproductive organ

(D) None of these
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(A)  FEquisetum arvense
(B) FEquisetum palustre
(C)  FEquisetum telmateia
(D) Equisetum scirpoides

In which of following species the fertile branch gets green after
dehiscense of cone ?

(A)  FEquiselum arvense
(B) FEquisetum palustre
(C)  FEquisetum telmateia

(D) FEquisetum scirpoides

39 A 4 syl usle usaldlul AAuHi (Eell uand-dl usl ddl3
S UIRETORE

(A)  de%-dl
B)  SMEwyd
(C)  uMY-Ydl
(D) [ANHEYdl

Which of following type sexual reproduction in Pucciniagraminis
known as ?

(A) Somatogamy
(B) EKaryogamy
(C) Isogamy

(D) Oogamy

40 {139+ U4l sl 23Ul Aldd ASHA ud © 7
(A SIHINRY
B)  32AHR
(@) [usey S92 2w
D) 2134 «d]
In which of following type of Lichen have Rhizine ?
(A) Homomerous

(B) Heteromerous

(C) Option Homomerous and Heteromerous
(D) None of these

DF-3010_A ] 13 [ Contd...



41 HA4L Aaye=y AL U4 3 @i yud B 7
(A) MU, <lel 2 [gdsde
(B) M-, Hlal 2 [Buee
(C) UL, Ul 2 [Zuede

(D) yHie, Hlel v [gueid

Which of following type of structure antherozoids of Anthoceros
have ?

(A) Equal, small and biflagellate
(B) Equal, large and biflagellate
(C) Unequal, small and biflagellate
(D) Unequal, large and biflagellate

42 oMl MUECICIC SR
(A lasel
B) sinlzala
Q) "™ NI

D) [asey «(lese v YA SN3w
Fungi lacks
(A) Chloroplast
(B) Cell wall

(C) True nucleus

(D) Option Chloroplast and True nucleus

43 Yidlzisil osyofl-l suade-dl (1AL A4 3 w153 Sy S 7
(A wHY[Hd 2SR
B) [Bslusie
(C) elluusi
(D) AU

Which following type of shape of transverse section of Rhizome of
Polytrichum ?

(A) TIrregular shape
(B) Triangular shape
(C) Round shape

(D) Square shape
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(A)  SNRHL Moa 2iRisipils] el
(B) SMUHL uwd PIsAl 81wl
(C)  WNd 5%
D) [asey snuHl Moda 2iRisipildl slodl »iq SNYH] 4w
IREEAR IRE.cl)
From the given below which is the characteristic of Plant Kingdom ?
(A) Non-living cell organelles present in cytoplasm
(B) Living cell organelles present in cytoplasm
(C) Do migration

(D) Option Non-living cell organelles present in cytoplasm and
Living cell organelles present in cytoplasm

45 »lfladidul dlaml siMldl susie A4 A4 3d] $ly 8 7
(A)  UslolS sedl doid (sl
(B) Uglolg sl dols dy
(C)  doils vt 48laLs uvll

D)  AMUML 2L81R

Which following types shape of cell of algae Oscillatoria ?
(A) Length is less than breath

(B) Length is more than breath

(C) Length and breath are equal

(D) Irregular shape

46 ws2siiyul dulsd vis sUl @3y Al 1A B 7
(A) &5 AM-AEH
(B) &sd A-lela
(©) Al »q A2l
D) AlAdH, A2d 2 da Digil

In which form of reserve food materials is found in Ectocarpus ?
(A) Laminarin

(B) Manitol

(C) Laminarin and Manitol

(D) Laminarin, Manitol and Oil particles
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Q) My
B) Aollorl
(@ usl-la
D) 2134 «d]
From the given below the septa absent in myecelium of which
Fungi?
(A) Pythium
(B) Peziza
(C) Puccinia
(D) None of these

48 218Ul sladl A U8l 56 a-aufaml Hlal 1oL B 7
) As2sdy
(B) &251u4y
(©)  usllul
Dy oflo
In which of following plant trichogine is present ?
(A) Ectocarpus
(B) Batrachospermum
(C)  Puccinia
(D) Peziza

49 elaidsHul [Uaid U1 ved a7
(A) URYY £d Ysiu AN AR
(B) dldlgrel 35 $iY AR
(Q)  HlaR 4RUsA U1y AR
(D) o641
When an operculum is open in Polytrichum ?
(A) When Peristome dried
(B) When environment dry

(C) At maturity of Capsule
(D) All of these

50 «[lA-l A4 55 adwila-l wiRHnldo Hlal 1A 8 7
(A4) dlsaxllen
B) el
(@  vidladsu
D) a3
Which of the following plant is seen as fossil species ?
(A) Equisetum
(B) Marsilea
(C)  Polytrichum
(D) Lichen
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